
Subject: Re: Basic question regarding callbacks
Posted by dolik.rce on Mon, 21 Jun 2010 18:39:14 GMT
View Forum Message <> Reply to Message

Hi,

This looks like a compiler optimization. The compiler recognizes that value of a is actually not
used before you assign it the result of that call to p(10,20).

Just to make sure: What version of U++ are you using? You can find it in Assist>About... Since
you said you are using mingw which is not distributed with U++ anymore, I guess you have
version 605, am I right? If so, please upgrade to something newer. Just have a look in the
Download section for links  Also, if you downloaded that ancient mingw release, you should
consider upgrading the mingw to newer version (have a look in this thread).

Bye,
Honza

PS: Could you use some other file format than .doc next time? Some of us don't have
Office/openoffice installed  Pdf or any image format would be nice, thanks.
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